ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



4

3 ?
THIS DRAWING 15 UNPUBLISHED. RELEASED FOR PUBLICATION E oo D1ST REVISIONS
@ COPYRIGHT 19 BY AMP INCORPORATED, ALL FIGHTS RESERVED. J _ — DESC'fE;T‘ON = e R
J REVISED FJOO-0588-01 | osarr2001 [C.0O | K. |
D
Lo (I
— e N e I e (R
[ (T I L O T A I I
1 S I | A O I |
- OO OO
] VO RINCON IRV RVS]
o O || 00 || 0O || OO
- OO OO
¢ N R 174888 -2 SCREWLOCK HO SERIES FEMALE ULTRA FREE CUTING STEEL A
A a—0w 7 HD =—2x il by
o | — | 74888~ | SCREWLOCK HO SERITES FEMALE ULTRA FREE CUTING STEEL A
A0 a—0v 7 HD ==X fefll #EmEs
S IR R 1726 17-5 SCREWLOCK HO SERIES FEMALE ULTRA FREE CUTING STEEL A
] A0 ) a—0x7 HD ==X ] #EmEEE
‘ R A | . HEX NUT M3 CARBON STEEL
c e | - 73089~ BTy A—RLIEE M3 RS |
] | 173088~ | SCREWLOCK HD SERITES FEMALE ULTRA FREE CUTING STEEL A
20 a0 HD =2 ] #BHREi
T > 1 1730341 SCREWLOCK AD SERTES FEMALE ULTRA FREE CUTING STEEL|
A0 a—0Ov 77 HD =—2 il A2lEiEs
S PR U (U D 705 7-3 SCREWLOCK HD SERITES FEMALE ULTRA FREE CUTING STEEL 4
20 a0 HD =2 ] #BHREiE
T P I P SCREWLOCK AD SERTES FEMALE ULTRA FREE CUTING STEEL|
i A0 a—0v 7 HD ==X fefl #EmEim
I 5 17261 7- | SCREWLOCK HO SERIES FEMALE ULTRA FREE CUTING STEEL A
A0 ) a—0x7 HD ==X ] #EmEE
‘ - e SPLING LOCK WASHER JIS 1251 2-3S CARBON STEEL
D I T T - T I O R A 2TV 090 - Do JIS 1251 22 35, s 3
L . PLANE WASHER JIS B 1256 3-10H CARBON STEEL
o6 o666 6 6] 1726097 Ty J1S BI256 @k 3-10H mwis .
T L o HEX NUT #4-40 UNC CARBON STEEL
N : cle2]¢ 726071 FEF ToTrq #4-40 REm |
_ _ _ _ | . _ ~ | |[PARTS NUMBER DESCRIPTION REMARKS
9 8 7 6 5 4 3 fa | m= < . | TEM
T TEAUBIECT To CHAAGE eD THE CONTROLLING ENG NEERKING DN O6AFPR200 | ‘
ORGANIZATION SHOULD BE GONTACTED FOR THE LATEST REVISION. C OHASH] Tyeo Electronics AMP K. K.
a | AANIER
Pl OTHERW ISE SPECITIED: APE}D‘ e OBAPRZ00 1 |Haue
il LA LKEGAN | = SCREWLOCK KIT
) S S——— aiws FOR HD SERIES
@E ; Z::; igg?: APFLICATION SPEC 7
PG Lo foH SRR SIZE CAGE CODE DRAWING NO
ANGLES +- - S
HATERTAL IR WEIGHT _ A 3 O O 7 7 9 @:. 172616
CUSTOMER DRAWING L R

AMP 1470-19 REV 09MAYS94

ProfENGINEER DRAWING




4

THIS DRAWING |5 UNPUBLISHED.

RELEASED FOR FUBLICATION

(C) COPYRIGHT 19

BY AMP INCORPORATED.

ALL RIGHTS RESERVED.

HCH

Lot

DIsT

REVISTONS

LTR

DESCRIPTION

DATE

Dl APVD

oMy —

oEE SHEET |

CNSOEGE VIRT. Ty T s AT v,
Oty 2EybOATg— Ov D Pya—1oE 5,

frEASLOE,; 3

Kg-com

CTHESE PARTS MUST BEE PACKAGED WITH UNASSEMBLY.

|
SOTHIS KIT MUST CONTAITN TWO SCREWLOCK ASSEMBLIES.
3OS5CREW ON TORQUE MAX; 8Kg-om
S - - 4178 AT -
ANV 3 =y OANDFE Dy 2 — (DRI
| OV SR ORI BRRE. A ) 2 =0y JIZIE 3MDED Y T —EEOAT D%
2. I IIRILR O S OEEERDE D ENF .
| VISRIVEIT L S 2mmBllE . O Ee—EL
CPERIES L O Imm~ 0 572mm; FDw e — |
3VIFRLEGO DS Imm~1 0 ITmm; FEIvIve— 28
A PRIVEITQ 5 T mmdT; FOwie—3W
# [ WRILBCRIWESDRES THhD.
P/ N AT "B "C
How to attach the common washer to the screwlock. | 72616-1] 7.92 [ #4-40 UNC|#4-40 UNC
[LAttach the common washer of three sheets In o screwlock ot fthe Time 1 72616-2114 272 #4-40 UNC |#4-40 UNC
2 11 s s ol Tont when Thased an bock panel mount OBSOLETERITEO IO 2 100 M2 4 a0 LN
| J)Thickness of panel-1.52mmMIN.; No washer OBSOLETE b ieele ) 20.0 #4742 NG |#4-40 UNC
2)Thickness of panel-1.0lmm~|.5Zmm; washer | OBSOLETE|I72616-0] 7.92 M3 M3
2)Thickness of panel-0.5Imm~1 . 0Olmm; washer 2 OBSOLETE|I172616-6] 10.0 |#4-40 UNC M3
A)Thickness of panel -0, 5ImmMAX ., washer 3 | 72616-7] 7.92 M3 M3
# The thickness of o panel 1s the thickness of two sheet sum total. | 72616-8] 15.0 [#4-40 UNC M3
[OBSOLETE|172616-9] 7.92 [#4-40 UNC M3
TR PR ooy, R0
s e AAINIPY
PINERsIoNs: OTHERM1SE SPECIFIED: APE}D‘MEGAM'OGAPRZOM KAHE
o PRgDUgTKEP%§M| SCREWLOCK K | —[
gi} EE% %g% ) FOR HDisERIEb
E 3 PLC +0. 03 AFFLICATION SPEC
4 PLC +0.0001 SIZE CAGE CODE DRAWING NO
ANGLES +- B
WATERIAL FINISH _ WEIGAT j A\% 00779 @:|726|6
CUSTOMER DRAWING T oo

AMP 1470-19 REV 09MAYS94




	Contact us

